Algada (m) Volum m? Temps (s)  Cabal m3/s

0,06 5,00E-06 275 1,82E-08
0,08 5,00E-06 184 2,72E-08
0,1 5,00E-06 160 3,13E-08 /O_

0,13 5,00E-06 120 4,17E-08 6,00E-08

0,15 5,00E-06 96 5,21E-08 y = 3E-07x + 1E-09 O /

0,18 5,00E-06 89  5,62E-08 ~ 2:00E-08 R? = 0,847 /

0,21 5,00E-06 77 6,49E-08 )

£ 4,00E-08
Pendent (m2/s)  b(m3/s) r E /
3,11167E-07 1,18695E-09 0,984677445 © 3,00E-08 /
Viscositat (Pa-s) 2,00E-08 S
1,06E-03
1,00E-08 T T T

Capil-lar: 0,02 0,07 0,12 0,17 0,22
radi (m): 2,25E-04 alcada (m)
Longitut(m): 3,00E-02
aigua:
Densitat(kg/m3): 1000
gravetat(m/s) 9,81

Resisténcia flux Kg/m4s
3,15E+10



